
[Ycs- lrztisz3c*n (oG) Seat Number: -

Q1) Ansr,r,er the following (Any 4 out of 6) (20 M)

l) Wliat is keyrvorcls and identii-rcr? Can we LISe ke1,u,ord as an iclentilier

2) [:xplain operzitors in cletail.

-l t \\rlrlrt is ('orrdilioulrl Statentcnt'?

4) Iixplain Array.

-5) WAP to accept a trut'nber and check it is llven or Odd.

6) Wr\P to accept a number ancl print firctor:idl of the nulrber.

Q2) Ansu,er thc fbllorving (Anr, 4 out of 6) (20 M)
1) lrxplain OOP's coucept in cletails. (CO2) (tl)
2) Wlite dill'erencc betweer.i OOI'] & l'}Ol']. (CO2) (l{)

3) l,ixplain cor.rstt't-tctot-ancl clestructot'. (CO2) (tf )
1) What is polyr"norphisnr'? l:xplain. (CO2) (R )

5) \\/Al) to create cluss nanting stuclents in that have to arcceptcletails o1'the stuclent ancl ciisplai'dctails o1'

the sturclent. (CO2) (A)
(r) lrxplain constructttt' jn details (CO2) (l l)

Q3) Ansrvcr the lbllorving (Any 4 out of 6) (20 N'{)

I)ur:rtion: 2 t/211r'.

Notc:-
I ) All Questions are compttlsory
2) I.'igurcs to the right intlic:rtc maximum mlrl<s.

I) lixplain Liheritance in cletails.

2) What is file Flanclling'/

3) I,rxplain pttintcrs.

4) t:rxplain gcts ( ) ancl pttt ( ) r-ncthod.

.51 \\iAI) to clcrnonslritlc singlc itthcritltlcc.
6) WAP to cottttt spaoe I'rorn f-rle.

Q.l) Ansn'cr the lirllorving (Any 5 out of 6)

1) l'ixplain Abstraction in details.

2) Writc clil'tercnoe bctu,'ccu Entry control loop anci llxit Cor-rtrol Lotlp

3) What is Ob.jcct'/ Ilxplain r,r'ith an cxanrplc:.

4) Ilor.v tct u'rite clata irl llle'i
( I \l/.A P tn l.r'.r.r.r-rf r:,r.,,,r'.1.r q rlf 3 sr.rhicr:Is ;tttd r:alcu.l::lc rrtadg-
-) ) vY /\1 L\' (IVVUITL trrcrrr\., \/r J "L'r/.rvv '*^-'__--'- D_-

6) WAl, to ztccept 10 array eletrents ancl plint sum ol'elements.

Marks: - 75

(crr)1) (R;
(co1) (LJ)

(co 1) (R)

(coi) (i..r)

(co1) (A)
(cor ) (A)

(co3) (t r)

(co3) (R)

(ClO3) (L.r)

(co3 ) (LI)

(C03) (i\)
(c()3) (A)

(15 N,1)

(co3) (lr)
(c01) (R )

(co2) (lL)

(co 1) ({ r)

(cro r ) (A)
(cro1) (A)
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